GIGAVAC
http://www.gigavac.com/contact/index.htm
GIGAVAC team is truly Today’s Expert in High Voltage Relays
G2
High voltage relays
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ACOIL RATINGSIW

Contact & Relay Ratings m“ minal, Volts dc nmm
[ContactForm 1] Pick-up, Volts dc,
Contact Arrangement SPDT Max.

Voltage, Test Max., Contacts & to KV Peak 17 Drop-Out, Volts dc 5-5[1-10 | 5-50
Base (15 yA Leakage Max., dc or 60Hz) CoillResistance

60 250 3500

Voltage, Operating Max., Contacts & to (Ohms *10%)
Base (15 yA Leakage Max.) Ratings listed are for 25°C, sea level conditions
dc or 60 Hz kV Peak 15
2.5 MHz kV Peak 12 For more information, refer to
16 MHz KV Peak 9 Relay User Instructions
32 MHz kV Peak 7
Current, Continuous Carry Max G2 S F-12Vdc
dc or 60 Hz Amps 50 High Voltage/
2.5 MHz Amps 30 Power Terminal
16 MHz Amps 17 Connections
32 MHz Amps 10 S = Solder Pot
Coil Hi-Pot (V RMS, 60 Hz) v 500 W = Screw
Capacitance
Across Open Contacts pF 0.5 Mounting
Contacts to Ground pF 1 5 == ":Flr?rr:)%(;h Panel
Resistance, Contact Max @ 1A, 28 Vdc ohms 0.012
Operate Time ms 15
Release Time ms 9 Coil Voltage*
= = — Blank = 26.5 Vdc
Life, Mechanical cycles 1 million 12Vdc = 12 Vdc
Weight, Nominal g (0z) 84 (3) 115Vdc = 115 Vdc
Vibration, Operating, Sine (55-500 Hz Peak) G's 10
Shock, Operating, 1/2 Sine11ms (Peak) G's 50 Order the relay with the coil voltage in the part
= = number as shown above. The coil voltage will
Temperature Ambient Operating c 5510 +125 |  appear on the coil plate near the coil terminals

rather than in the P/N on the relay.
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75,0 00
GX11 | Yes 2.5kV
150| - |- |-
1.5/1.5(1.5[1.5
- GR3 No _
BJA335
3.3 /3|3
2 2 2|2
- GR6 No _
CBA335
— 6 6 6|6
3.3 3|3
GR2DNA| No -
2 12 2|2
uid 3525 2 1.5
GH1 No 500
25 (1419 |7
s 35|-|-|-
GH3 | Yes 500
18| - |- |-
A 35|-|-|-
GH5 |Make 500
—— | Only
8 | - |- -
5 5|55
GR6 | . )
8B rNaxis
8 8 6|6
e 5 453528
] l G41A | Yes 500
T 30 (24 16|12
- 5 453528
] l G41B | Yes 500
T 30 (24 16|12
o —
. 5 |4.5(3.572.8
G41C | Yes 500
30 (24 16|12
G45C | Yes | 5 |4.53.52.8 500
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2000

20 |16 (10| 8
7171|7|7 20@

E SR8 | No - |SPST-NO| A |04 5% 0050 2 | 1 | 100 | 10- | 100 | 4
HBA318 million
E— 10 [10 |6 | 6 500

8 8 8 8 20@

AR o8| No - SPST-NC| B |4 3% 0050 | 3 | 2 | 100 | 10- | 190 | 5

JNB218 million
8 8|66 500

« B 1

'*ﬁ 8 - - - 10@

GH2 | No 500 | SPDT | C |- - 0010 6 | 6 50 55- |2 million| 40

ol R 2000

rﬁ 25

« B 1

'*ﬁ 8 - - - 10@

GH4 | Yes 500 | SPDT | C | - - 0020 6 | 6 50 55- |2 million| 40

ol R 2000

rﬁ 15

m 8 - - - 10@

Make -
GH6 500 | SPDT | C |- - 0500 6 | 6 50 55- |1 million| 40

/| = |ony s |- 1. 2000

T 8 5|3 2 10@

G12 | Yes 500 | DPDT | 2C 0.8/1.5/0.020 | 15 | 9 30 10- |1 million| 71
107 |32 2000

T 8 5|3 2 10@

G12L | Yes 500 |“AIEHME oc 10.8/1.5/ 0.020 | 15 | 9 30 10- |1 million| 71
2= DPDT
107 |32 2000

-Ii:‘l

| | 8 757 5 10@

G47A | Yes 500 |SPST-NO| A |1.2/1.2/0.030 | 10 | 10 | 30 55- |2 million| 26
12 (10 |5 | 3 1000
-Ii:‘l
| | 8 757 5 10@
G47B | Yes 500 |SPST-NC| B [1.2/1.2 0.030 | 10 | 10 | 30 55- |2 million| 26
1210 5 3 1000
—
e 107 6 4
10@
G43A | Yes 500 |SPST-NO| A (1212 0020 | 10 | 10 | 50 55- |2 million| 28
25 20 1310 2000
—
e 107 6 4
10@
G43B | Yes 500 |SPST-NC| B [1.2/1.2 0020 | 10 | 10 | 50 55- |2 million| 28
25 20 1310 2000
=
- 107 6 4
2 10@
G43C | Yes 500 | SPDT | C |1.2/1.2/ 0020 | 10 | 10 | 50 55- |2 million| 28
25 120 (13|10 2000
10 - | - |-
10@
G81A 5 SPST-NO| A .
| ==_ y - - - -
H G81B Yes e SPDT-NC| B 0.030 10 10 30 5530 2 million| 57

or
30




10

10@
My GBIC | Yes - SPDT ' C | - |- 005 10 10 | 30 55- |2 million| 71
c?r - |- - 500
30
10(- |- |- 20@
. |GR5LTA| Yes - |SPST-NO| A |1 8% 0250 | 2 | 2 | 100 | 10- | 1bilion| 28
5. .1- 500
l l 0 - - - 20@
GR5LTB| Yes - |SPST-NC| B |1 8% 0250 | 2 | 2 | 100 | 10- | 1bilion| 28
—— 5-1-]- 500
§ 15 129 | 7 10@
g G2 No 500 | SPDT | C 05 1 0012 | 15 | 9 50 55- |1 million| 85
s 50 (30 17 10 500
§ 15 129 | 7 10@
= G2L | No 500 |“RIEMMEl o 1051|0012 ] 15 | 9 50 55- |1 million| 85
p == SPDT 500
. 50 (30 17 10
.- Bl 10@
g G8 | Yes 500 | SPDT | C 05 1 0025 | 15 | 9 50 55- |1 million| 85
. 30|-|-]- 500
e 15 ) ) ) LATCHIM G 10@
g G8L | Yes 500 C |05 10025 | 15 | 9 50 55- |1 million| 85
p = SPDT 500
.o 30|-|-|-
S 15 113 |10/ - 10@
4 G9 | Yes 500 | SPDT | C | 3 35 0010 | 30 | 8 50 55- |1 million| 300
- 75 35 22 - 500
i 15 - | - -
¢ Make 10@ N
G15 500  SPDT | C | - -| 10 |15 | 9 50 55- |1 million| 85
‘wa Only 500
12| -|-|-
4 15| - |- |- 10@
® | g1sL |Make 500 |“RIEHMEL o | 40 |15 | 9 | 50 | 55- |1milion 85
& —— | Only SPDT 500
. 12)-1]-1-
Make | > T |7 @
; G13 | VaKe 500 | DPDT |2C 05 1| 10 | 15 | 9 50 55- |1 million| 142
Only 500
10| -|-|-
15 - - |- 10@
: Gi3L |Make 500 |“ATEAINSL o0 051 10 | 15 | 9 50 55- |1 million| 142
==X Only DPDT 200
10| -|-|-
& 15 (13 10 - 10@
<.+ G23 | No 500 | DPDT | 2C ' 3 35 0010 | 30 | 10 | 50 55- |1 million| 380
b 75 35 22 - 300
Bl 20@ | g
~ GRSMTA Yes - |SPST-NO| A |1 8% 0250 | 3 | 2 | 100 | 10- Y 28
500 million
5 [-1]-|-
N 25 - - - 10@
G22 | Yes 500 'SPST-NO| X 2525 0.005 18 | 10 | 30 55- |2 million| 342
e 65 - - | - 500




1s" 25 - - - 10@
G25 | Yes 500 | SPDT | C |- - 01 | 15 | 15 | 20 55- |1 million| 320
m 18 | - _ _ 500
25 - - -
SPST-NO| A 10@
G62 | Yes 500 |SPDT-NC| B | - | - 0500 | 15 | 15 | 20 55- |1 million| 340
18| - | - | - SPDT C 500
25 - - -
LATEHING |\ 10@
G62L | Yes 500 | SPST | o |- - 0500 15 15 | 20 55- |1 million| 340
18| - | - SPDT 500
3 25| - |- |- 10@
G50 | Yes 500 | SPDT | C |5 5 0005 100 | 15 | 30 55- |1 million| 992
- 500
110
3 25 1510 7 10@
G52 | Yes 500 | SPDT | C |5 5 0003 100 15 | 30 55- |1 million| 992
limited
150(120|75 |30 500
—N 28 |22 (12 (10 10@
G20 | No 500 |SPST-NO| X [25/25 0.005 18 | 10 | 30 55- |2 million| 342
s 11060 |40 30 500
4 make |22 1 | 10@
y G60C oale 500 | SPDT | C |- - 10 | 15 | 15 | 50 55- |1 million| 85
= "la] -] - 500
=8 35| - - - 10@
* | G6oL '\ga'l‘e 500 |“UEENEc - |- 10 |15 | 15 | 50 | 55 |1milion 85
= "la] -] - 500
35 - - -
Make SPST-NO| A 10@
Ge1 |0 500 |SPDT-NC| B | - | - 10 | 15 | 15 | 20 55- |1 million| 336
Yl0l-1-1- SPDT | C 500
B0 10@
LATCHIM G
G61L '\gi'l‘e 500 | SPST é - - 10 15 | 15 | 20 55- |1 million| 336
Y110]-]-]- SPDT 500
50 - - -
Mak 10@
G64C | rake 500 | SPDT | C |- - 10 | 15 | 15 | 10 55- |1 million| 340
——— | Only
10| -|-|- 500
il 10@
GeaL | Make 500 |MATEAIMSL o .| 10 | 15 | 15 10 55- |1 million| 340
== | Only SPDT
10| -|-|- 500
0 |
Make HEES SPST-NO| A 10@ s
G711 |5 500 |SPDT-NC| B | - | - | 20 | 20 | 15 | 20 55- | o | 336
Yl0l-1-1- SPDT | C 500
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* ¥
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20

10@
55-
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5
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336

#Closed contacts to ground.

##30 kV

at 60Hz
01/22/07




